0001884905118999

20 MTENKE O0—e—

2014 4 HUR 25 L[

1 | kooZet (a)~(g) %42 Hi A .

(D) 2KFBRA2E— 20 +2=002°0M% a, LT HE
(2) 0 THW2ODRZ NV @ & b I%, 2Efan60°T, |
HTHDHE X, t OffiE -%5.‘5 )

3E i3
@) a* =V3+VZors, L =L pjuz Th5.
(4 Mat+y?— 22 —dy—4=0LDHAL, Mr2+y?—127— 14y +81 =0 EDEBIZDWT, AL B
ORORMIE (D] Thd. ~ 512 = j_é“
(5) 6BMDIA Y ERIHIHIT B E ¥, B &Y 3D D1V MEITA BRI TH%
2 _
(6) #Ha, IHLT, lim L =L —6nmyuor¥s. cors, a= - b= ‘w)é
o(,+6’" @AY= 2018
(1) BE ¢ ZA30fRE 85 drb=2,df=2 "‘ﬁ*‘F’ ST T A =0y
" >
@ (a+7) ER+t¥)= 2|+ (tr2) 2V + LB o @)

s B Be RLIB] w60’ = B

- -

B2 pim <53

2.
— B — — —_
a { | TH 5. a4 b E2a+1bHE

Lo 2o &Y §ITT )| c|pl*=0 IB[¥0#) 2t +iD=D

F L. ©t==5
@) K -a” ..aj»’( e B S Lﬂﬁ//
a‘:(__a .
= (ot +ah3()2~ {
- (203 ) -

"

L %
2.9 (=)t @1 =4

(4) G-+ -2)=19
dhlotal® |G-002) =52 o 5[2-5

A

20 &
@) G H T

,__.__4/
(6) %%% = (23RS 2K, Ql_b.-;o b=

L (gH) < i EROD () ma=3, b=q
L A=A T GL - 7




